SDEHE

NO. 112

HAEBH SH5%E3FA3H

MR EARIFER
HILTES 1051301 Kn¥E FREFRMEE
b EE =25 INDEE [SOEHE
AT 7E i S1FET1843FH D10
MERIELE [(BEXEER EERE |EE
#hX nEZ INERR (IR EINER
I 43 e 2% —
REXHE (SHETEGEEREREEA
FHRAEE TAEEOHECIEERERES -RES
FUEE BGiREREEE
Ba=]:0) FERRE
B EFE(m) 500.01 |#A3EFR EF&E(M) 123.93 | EFTIEE|— BGEEE () | EEnLsY
THERE m o |EBYRE | BEE
RREEFE H15 EEH 19 [EiEEi5 3" BN (F) EEDEEY
T AR RN I A it i T — | HEZH [GELCE: —
NYF7I)—xIE | HAQ BTZOMIZETLILO LEMMML BMRNOBER
HECEE, FIANRR (RIS1HRE)
% R2 R3 Ao FIFEE (N
1 (gBE%E) 163 112 201
2 |RIAEHN) 209 166 286 350
3 [1BHE=YDFAELR(N) 1 2 1 300
4 250
5 200
6 150
100
/ R2 R3 R4
8

REERRERS [8:30~17:15

B B &%k (R3.5.13R1E)

REER | LBE, BIE, HIAR, 128298 M5B FE183H

BAK V| 2 [[ARI]| | 0 [ein| 0 iwsan| 0 |BEA| 0 |0 2RI

ORMER (- FH)

% R2 R3 R4 A R2 R3 R4
= HAEE () — 315 268 |ismorA (2 — 0 0
AR — 0 0 RS — 0 0
R — 0 o & [mmrs — 0 0
Sk — 245 265 z0ft — 0 0
- — 0 0 [rimue ssremzaA) — — —
R lpeemy — 0 0 |rameres R2 R3 R4
s EBEIH — 67 0 |raeme @ —g A — 315 268
ZOERH — 0 0 | esrvonsn — 0.9 0.7
I — 3 3 [nmziAzryomsn — 1.9 0.9




HROKE

B4

IERRETE

()

&

(3

R 2%

ih | 3

25
FE

[

R

&
ik
(FM)

BN
(M)

IDEHE

123.93

11

H15

15,803

6,155,078

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31




